CURTA
NESSENEERG

a  Baosic multiplication

b Multiplication with constant factor

¢ Shorfened method of multiplication - 1
d  Shorfened method of multiplication - 2

e  Shortened method of multiplication - 3

i Multiplication with multiplicand already in CR

Decimal rule for multiplication:
Decimal places in SR+ decimal places in CR = decimal places of the result

Marking : dpSR + dpCR = dpR




1B

Basic multiplication

8,5492 x 0.03204 =2 Carriage/Inverter Product
axb Clear 1 Clear Clear
Set the longest factor
1 Develop the other factor in CR with positives turns 85492 6|s]4]s]2]1 4+ 4 341968
and successive Carriage positions fre a2 4 oo g 76543 2 4
2 The next digit of the multiplier being zero... 85492 2 o 0 4 341968
3 ... Next carriage. Develop 2 in CR 85492 3 2 + 204 17440368
Next digit. Develop 3 with Carriage 4
4 Decimal rule: dpSR + dpCR =dpR, 1 + 5 =46 835492 6|54 2] 3+ 0/03]2/0/4 27]3/9]16/3/6/8
N N 1110987 654321

Result: 273.91368

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023
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1B Multiplication

b

with constant factor

8,549.2 x 0.00304 = 2

axb

Setting

Carriage/Inverter Counter Product

1 Live the machine as it is af the end of previous example 835492 4 3]2/04 2]7/3]9]18]6/8

2 Eliminate the figure 3 in CR 85492 4 3 — 0204 17440368
Develop 3 with a positive turn.

3 Decimal rule: dpSR + dpCR =dpR, 1 +5 =6 835492 s]5]4]32)) + 0003104 215,9/89)56/8

Result: 25.989568 “ “ e se s k2

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023
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1R Shortened method of multiplication - 1

C ]3,974 x9=2 Setting Carriage/Inverter Counter Product
axb Clear 1 Clear Clear
Sefa 13974 654321 999999 99999986026
1 Instead of multiplying 13,974 by 9, we can calculate -
13,974 x (10 — 1), or — 13,974 + (13,974x10) &7 ¢ 43 21 4 4 e s ze s 4 s 2 A
) Multiplication by 10: one positive turn at Carriage 2 13974 654321 . 9 125766
This turn is a zero turn. Result with 2 turns instead of 9. Result: 125,766 a a 11098 7654341

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023

1B



1B

Shortened method of multiplication - 2

784.45 x 927.9 =2 Setting Carriage/Inverter Counter Product
axb Clear 1 Clear Clear
Set a
1 Negative furn 78445 654321 B 999999 99999921555
The last figure in CR is the last digit of the multiplier 8 7 ¢ 2 43 21 4 4 oo g 765 4.3 2 4
2 Carriage 2. The next '9" in CR must be a '7' 78445 2 2 — 999979 99998352655
3 The next '9' must be a '2'. Making a zero furn 78445 3 + 79 6197155
4 Two additive turns to Develop the '2' 78445 3 2 + 279 21886155
5 Two subtractive turns produces a '9', the first figure of the multiplier 78445 4 — 999279 99943441155
Decimal rule: dpSR + dpCR = dpR, 2+ 1 =3
6 The other '9' can be eliminated by a zero turn. Result: 727,891.155 78445 6|3]4]32) + 912]719 71278911155
A A 1109 8 7 6 A 4321

We have used 8 turns instead of 27

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023
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Shortened method of multiplication - 3

58,82] X 2],878 =2 Setting Carriage/Inverter Counter Product
axb Clear 1 Clear Clear
. Seta 58821 6541321 999998 99999882358
Gradually develop 21,878 in CR starting with negative turns 5 5 4 5 4, 5 5 a 2= a 11098 765 4302a
58821 2 2 — 999978 99998705938
2
58821 3 —_ 999878 99992823838
58821 4 + 87 8 5164482838
3 Develop 1 with one zero turn and one positive turn
58821 4 + 1878 1104658338
21878 1286885838
4 Result: 1,286,885,838 58821 [s/5]4ls]2 2 +
A A 11109 87 6 A 43 21

Source: " Instructions for use of the Curta ", Contina / Bernard Stabile - 2023
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1B Multiplication with multiplicand present in CR.

2

axb Clear Clear
: Live the machine with CR of the previous example 5 21878
Inverter down A
24 65 43/21 - 01878 438
87654321 A A 11109 87 6 A 4321
2 Reduce successively the figures in CR to O 24 4 + 0878 504
2 4 3 8 + 0738 5232
2 4 2 7 + 038 52488
3 Result: 525,072 24 efslafslz]l 8 + 32]5]9)712
A A 110987 654324

Source: " Curta calculating techniques " / Bernard Stabile - 2023
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